

Your Hose & Fitting Connection

LPG DELIVERY HOSE



Liverpool Location ISO 9001:2015 Certified QMS by Intertek

www.jgbhose.com

Click for directions:

New England Region Liverpool, NY 13088 (315) 451-2770 Great Lakes Region Cheektowaga, NY 14225 (716) 684-8224 Mid-Atlantic Region Charlotte, NC 28273 (704) 588-9920 Midwest Region St. Louis, MO 63111 (314) 256-0833 Gulf Coast Region Pasadena, TX 77503 (281) 930-7777 Download the JGB[®] Mobile App





Application:

LPG Deliver Pro[™] is for residential and commercial delivery/transfer of liquid propane gas, LPG Dispensing and LPG Portable Heaters. Excellent cold weather flexibility, a smooth cover for low drag resistance, and a low extraction tube to reduce contamination. The hose meets UL, CGA and DOT requirements. Additional applications require prior approval. Not for LP appliances or other consumer applications.

Construction:

Tube	Black Nitrile
Cover	Textile Spiral (4) Reinforced
Reinforcement	Synthetic Rubber
Temperature	-40 to 180
Branding	Example: 1″ (25.4mm) LPG Delivery Pro™ CGA Type 1 LPG-Hose Issue No. E- 8167 350 psi (2.4 MPa) Max WP. Made in U.S.A.
Coupling	ContiTech approved Male NPT fittings
Order Codes	595-042

ID		OD		WP		WEIGHT	
in.	mm	in.	mm	PSI	MPa	lb./ft.	kg./m
1/2	12.7	0.930	23.6	350	2.41	0.25	0.37
3/4	19.1	1.230	31.2	350	2.41	0.38	0.57
1	25.4	1.490	37.8	350	2.41	0.51	0.76
1 1/4	31.8	1.795	45.6	350	2.41	0.67	1.00
1 1/2	38.1	2.039	51.8	350	2.41	0.78	1.16

FUEL MASTER[™] LP350

FORMERLY LP350 & LP350X BUTANE-PROPANE HOSE Specification 3220SP





Application:

Liquid or gaseous propane, butane or any combination of these two mixtures. Can be used for natural gas (not to exceed 50 psi) under certain conditions such as: open/outside areas and well ventilated factory buildings (if local building codes permit). Not recommended for residential, office buildings or as fuel line hose on compressed natural gas vehicles.

Construction:

Tube	Type C Black Nitrile
Cover	Type A Black Neoprene (All sizes are perforated.)
Reinforcement	High tensile synthetic textile cord
Temperature	-40°F to +180°F (-40°C to +82°C) continuous service.
	Warning: Do not convey LP Gas over 140°F (60°C).
Branding	Continuous molded strip brand label. Example: "Gates® Fuel Master® LP350 2 Inch Do Not
	Exceed 350 psi WP Made in U.S.A."
Coupling	Contact JGB for proper hose fitting requirements
Order Codes	595-042

ID		OD		WP		WEIGHT	
in.	mm	in.	mm	PSI	MPa	lb./ft.	kg./m
1/4	6.4	0.58	14.7	350	2.41	0.14	0.06
1/4	6.4	0.58	14.7	350	2.41	0.14	0.06
3/8	9.5	0.74	18.8	350	2.41	0.21	0.1
3/8	9.5	0.74	18.8	350	2.41	0.21	0.1
1/2	12.7	0.91	23.1	350	2.41	0.28	0.13
1/2	12.7	0.91	23.1	350	2.41	0.28	0.13
3/4	19.1	1.23	31.2	350	2.41	0.44	0.2
3/4	19.1	1.23	31.2	350	2.41	0.44	0.2
3/4	19.1	1.23	31.2	350	2.41	0.44	0.2
3/4	19.1	1.23	31.2	350	2.41	0.44	0.2
1	25.4	1.51	38.4	350	2.41	0.6	0.27
1	25.4	1.51	38.4	350	2.41	0.6	0.27
1	25.4	1.51	38.4	350	2.41	0.6	0.27
1	25.4	1.51	38.4	350	2.41	0.6	0.27

TYPE 65 BUTANE-PROPANE





Application:

The Type 65 Butane-Propane hose is designed to transfer LP Gas from bulk storage to tank cars or cylinders. It is lightweight and flexible, and features a black CR cover that is oil resistant and also resists snagging, abrasion and weather. All sizes have a flexible static wire and this hose meets all UL requirements.

Construction:

Tube	CR
Cover	Black CR, High, Medium-High Oil Resistance
Reinforcement	High tensile cord
Temperature	-40°F to +180°F
Branding	Thermoid HBD Industries Inc. Type 65 UL Listed LPG Hose MH12585 Issue Number 350 PSI Max.WP Quarter/Year Made In USA
Coupling	Contact JGB for proper hose fitting requirements
Packaging	100 ft.

ID		OD		WP		WEIGHT	
in.	mm	in.	mm	PSI	MPa	lb./ft.	kg./m
1-1/4	31.75	1.81	46.04	350	2.41	0.92	1.37
1-1/2	38.10	2.19	55.56	350	2.41	1.21	1.80
2	50.80	2.75	69.85	350	2.41	1.77	2.63

** Includes dual stainless steel static wire, spiral applied, in all sizes.

